> A
A & 0l & AF 2 E A A
20179 & =S0lah LB &
SN RERHY
M ABI0l Ol8at)| ®elst XotEAHE
SR AA-RA SHEE ALY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=Ry 14,462,272 3,763,488 10,698,784
A2I0l OI83t)l Eelg XotEHE 5,974,500 5,960 5,968,540
DA-RA SAAEE ALY 1,845,000 0 1,845,000
AMNE EEEYF EX AY 1,845,000 0 1,845,000
402 RIZFR201 ™ 1,845,000 0 1,845,000
03 I 2HCH & A S HI 1,845,000 0 1,845,000
OAMe HE8YR &3 223
9,000,000,000& *20.5% 1,845,000
AA-UH=E SHAEE ALY 4,129,500 0 4,129,500
DAN-THS 28 SHEE ALY 4,129,500 0 4,129,500
308 XX EHSOIA 4,129,500 0 4,129,500
MIIERE= 4,129,500 0 4,129,500
OLMN~THZE SHAE AH 23 (1MHEE)
4,129,500,000& 4,129,500
EMUAD OtEE DESEHE =4 79,000 0 79,000
etdst nsgd =29 79,000 0 79,000
AHtsnssFLEHE =~ 79,000 0 79,000
207 A RO 79,000 0 79,000
01 A7 39l 79,000 0 79,000
OXNSIHs DESFLHNYE 228
79,000,000& 79,000
HYR2IZH (RESF D) 108,772 182,197 AT3,425
el 2 56,952 47,547 9,405
ol 2l 56,952 47,547 9,405
101 124 dl 55,512 47,547 7,965
02 JIEtE B == 55,512 47,547 7,965
OJ0IXF MBWSHAAY AlZFEEH A IIH
ol 244l 41,106
—Jl=s 2,705,660& x12& 32,468
—HESY 80,000& 123 960
—NHESHEXY 465,330 » 1 x43] 1,862
— g2l 105,000& *35/40* 128 1,108
— ZWZ A 130,000& 12 1,560
— HItE & Hl
2,705,660 *84%*86%+*1/30*1/7*56 Al 2t 522
—ZUZRE 7,829 x1H «28Al 2tx 1228 2,631
OJ0IX 7 MsuSHAAY AlZHEEH I
B8z 4,220
— =033 41,106,000& *45/1,000 1,850
—HLLEE 41,106, 000& *30.6/1,000 1,258
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SA: REFHY
HE: HYRYFU(REFHD)
Sel: o2y SERED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
—LOoAMIQABSE 1,258,000 *65.5/1,000 83
—1E28E 41,106,000 «15/1,000 617
— A EE 41,106,0002 x10/1,000 412
OJ0IX 7 MEWSHEAY AZFSEHT DM
228 g2z 113,170 %30 *1,095/365 10,186
202 04d| 1,440 0 1,440
01 2L Hl 1,440 0 1,440
ORJ0IX 7 MEWNSHEAY AlZESEHT DX
ERSge:N| 120,000& x 18 =12 1,440
| 2 &l 51,820 134,650 AN 82,830
Jl2 &l 51,820 96,370 N44 550
201 Bt 23,140 52,250 A29,110
01 AP 22| H| 19,440 25,920 N6,480
OEMd8d9II24 19,440
— =2 H| 40,0003 «18H x12& 8,640
= 2| 50,000& x18¥ x12& 10,800
02 232%H4| 3,700 26,330 A 22,630
O2ZQ2Y A 700
— 22X XS XA 260,000 260
—24Z2NY BEE= 300,000 300
—2A4EXNY SHIMEREE S 140,000& 140
(OF=S=PE=a =D\l 3,000,000& 3,000
202 044l 24,480 33,120 A 8,640
01 2L bl 24,480 33,120 A 8,640
H2=XI| 20 Y| 120,000 17 x12& 24,480
203 Q2 =AY 4,200 4,200 0
04 EASHEIRFAH| 4,200 4,200 0
OBNM2g9I2=&Y| 350,000 x12& 4,200
eSS (REXMD) 8,300,000 3,500,000 4,800,000
WEAHAXI= 8,300,000 3,500,000 4,800,000
HECHEANGELEIHEESS 8,300,000 0 8,300,000
701 JIEISI HSHEZ 8,300,000 0 8,300,000
01 JIEIS HEE 2 8,300,000 0 8,300,000
OECHHEANIELEIHEES
8,300,000,000& 8,300,000
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